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' FINANCIAL MANAGEMENT
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Time : 3 Hours Max. Marks : 100

Instruction : A single answer book containing 40 pages will be issued. No
additional sheets will be issued.

SECTION-A
(15 marks each)
TN — D
(Fecinonn, 15 Lored)
. Answer the following : ‘ (15x3=45)
3SNS BIRR LS00

1) Explain the scope of financial management.
BEITIRO JF BESOD YO, STORD.

o OR/&5s
What is capital structure ? Explain the factors influencing the capital structure
of a firm. .

( 20R9 O3S 20BBER? o TS03R) RE ORI 08T DSOR0.

2) Proforma cost sheet of a company provides the following details :
20T FoBIOD 328, W) B FINS DRODATS) VTS :

Elements of cost : Cost/unit (%)

2 WERRORTI LHoBNEH T2 00RALFE g (SR.)
Raw material (8:3, %)) : 105

Direct Labour (3r9) 60

P.T.O.
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.

Overhead (0e3,23) , 35

Total cost per unit (& O3V WidY, =) 200
Profit (<o%) , 40
Selling price (SRoots 638) 240

The following particulars are available :
23 39N RN SIAENR

a) The level of activity proposed is 14000 units.
Siveniaty TR 14000 units.

b) Raw materials are expected to remain in stores for 2 months.
| ﬁxaeaaméeﬁjw%ﬁ@ 28T 96 2 SN

c) Material in process Y2 month.
@ﬁéoﬁa@ﬂdm 2080 Yo Sonsh.

d) Finished goodsin stock for 2 menths.
%zﬁ@ﬁmwﬁ DAY BeDTE 2 SN

e) Creditallowed o customers 3 months.
e el 2R POT 2RH 3 N,

f) Credit allowed by suppliers of materials 1%2 months.
AN QT POT BBQ 2 0RT3 (12) Bonso.

g) Minimum desired cash balance % 30,000. _
BRI TT TR SN =32 8. 30,000.
Prepare statement showing estimation of working capital requirement.
B3R WORTDIRI) OO BRBB AT 3003 FoSTROAD.
OR/egw»

What are the sources of long term finance ?
DD FTOT BBHOD BermaR BRONH 3R ?



RO O %3

3) Explain the factors affecting working capital requirement of a firm.

emqsdad cg}soas woz:’-ameﬁﬁdi QFORS @oaﬁr{e;ag De3OD.

OR/esge

~ The following details are available relating to a project.

3 1f RororRes D0 3 8¢nT0sa,

Cost of the project : ¥4,50,000
(ﬁ@zﬁfﬁ ﬁzﬁw) on. 4,50,000
Life of the poject : . \ 5 years
(Bpe?, S BeR) 53RF

Method of depreciation : Straight line method
(Bayeaodods BT ¢ 7, 0 I VAt

Year Cash in flows (%) PV of Re. 1 at 12%
1 2,00,000 0.893
2 220,000 0.797
3 | 2,50,000 0.712
4 1,90,000 - 0.636
5 | 1,00,000 0.567

Compute the following :
3¢ ﬁﬁ‘eé)ﬁ#abq QTFOD:
a) Payback period
BewR, T M
b) Average rate of return
ARV Bee e35° DB F

c¢) NPV at12%
ST &R 12%

d) Profitability index at 12%
UDZ#Cﬁ f‘aodﬁ‘:j 2%
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" SECTION-B
' (5 marks each)
AR
(Bécdrowsn, 5 £903MSD)
Il. Answer any six questions : (5x%6=30)

. CIRRTHTIR BT BINI,LUZOR0:

1) Explain the sources of short term finance of a firm.
wr:’gga:bd BRT) 930030 BEFTAD f)JJD@T{%‘fdi QTWOXD.

2) What are the stages of operating cycle ? Explain.
ST EL3OTT® ﬁﬁ@% éoefﬁee’_o SRR 7 DSOO.

3) State the techniques of inventory management.
RO R 203D éo@ﬁ@iﬁg{ EPR0.

4) Explain the importance of capital budgeting.
QBT LERIONTS TR0, BT, DTORD.

5) Explain the motives for holding cash.
SRTI) BROTS TR LTORD.

6) Calculate financial leverage, operating leverage and combined leverage
from the following :

S%a'ﬁaa‘éa‘boﬂ esTSeb3one TN BOUTT, OFBewa) FoRBBOWO.

»

Sales : 7000 units at X 50 per unit
RT3 E 7000 0302363 T 50 T 0300
Variable cost T 30 per unit
6:32'0%33 ﬁaa; : T 30 =& oo
Fixed cost : : %20,000
APFOZ R, © ©».20,000
Interest " 310,000

R : gn. 10,000

O
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7)

8)

From the following calculate EOQ as per Tabular Method.
B3 3PN Dweonyom EOQ 30t30&E0200.

Order sizes (in units) : 8000, 4000, 2000, 1000
(RS0 D)

Annual consumption : 8000 units
(0T WYB)

Ordering cost : X 50/order
(Rod j?jw)

Carrying cost : % 6/unit
(59,001 523)

From the following capital structure of a company calculate weighted average
cost of capital :

BFB0E BoBACD WOBRPT TL3SO00T e @aﬁdezﬁs R, SF° AV,

)

BOBILROWD :

Sources _ Amount (%) After tax cost of capital
Toeensd o¥ch £32,8€ FoSTT Lo euE
Equity shares 12,00,000 18%

(23,23 Hegonsd) |

Preference shares. 6,00,000 16%

(QFTT*, Readrisd)

Retained earnings 4,00,000 17%
‘(w%d ) |

Debentures 3,00,000 14%

(POBINL)
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SECTION-C
(3 marks each)

AN -2
(géoimod&r% 3 ©03nD)

ll. Answer any five questions : (3x5=15)
3R TOTITR 0T @%ﬁe}a’% SVUBORD:
1) State the concepts Qf cost of capital.
WoRY S BOFUSMTR) 8920, C

2) What is wealth maximisation ?
B BRIRRBT 20T ?

3) Explain the relative importance between financial management and human
resource management.
| BeomoAS ARF I w03 ST #oﬁdf@@ S EBHOF VBN FOWOHT djﬁ‘e;aﬂdgt
SPR0.

' 4) What are the costs of extending credit ?
UTID SIRORI RowogmRed Sncd oI ?
5) Write a note on venture capital.
HBowWO® Ty WL L3309 WBOD.

6) State the features of appropriate capital structure.
RRTFF LOBY TBIOD oﬂM saﬁ@a'bq SPR0.

7) A company issues 12% debentures for ¥ 20,00,000 at par. The company is in
the 35% tax bracket. Find out the cost of debt after tax. _
FoB030 Tre. 20,00,000 BRST 12% u@éddd moﬁgda’% SRV DRRT.
6,5 Cet® 36%, tR,F°, 9F03THE MOTFT FFB0 FORELRD.
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. SECTION-D
(1 mark each)

T - 8
(BeoeomEn, 1 ©o3)

. Answer all the questions :

Z33INS é:ac:am @gﬁ@@ m_a:am '
1) What are receivables ?
DRCTICLITT QOTITEO ?

- 2) What is safety stock ?

dﬁﬁa TR0 ROTITE0 ?
3) What is time value of money ?
W 0,00, FF &R HOTBED ?
4) What are preference shares ?
Q50 Hedorish 0mBed ?
5) Whatis IRR ?
20.850°.650°. 0TTERD ?

6) What is lead time ?
e YR 0BT ?

7) What is trading on equity ?
£ eRONT ST 98,43 OTTED ?

8) What are mutually exclusive projects ?
RRB RO T B T2 0TTERD ?

- 9) What is permanent working capital ?

sazéé c%do@aﬁ 20T NOTBEID 9

10). What is dividend ?
BRBOT H0TRTERI?
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(1x10=10)



